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Question 33:
Find the area of a quadrant of a circle whose circumference is 22cm .
Answer:

Circumference =22cm
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Quadrant of circle will subtend ¢pc angle at the centre of the circle.
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Area of such quadrant of the circle = 3960
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Question 34:

Find the area of the shaded region where ABCD is a square of side 14cm .

<

Answer:

Area of square ABCD = 14 x l4cm® = 196¢m?
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Diameter of each circle = % =Tcm
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22 7
.. Radius of each circle = 71> = - X <§>
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Area of circles =4 x = X <%> = 154cm?

Area of shaded region . Area of square - Area of circles
= 196cm*~ 154cm* = 42cm?
Question 35:

The radius of a radius of a circle is 20em . Three more concentric circles are drawn inside it in such a
manner that it is divided into four parts of equal area. Find the radius of the largest of the three

concentric circles.
Answer:
Letr be the radius of the largest of the three circles

Area of largest circle _ 3 [area of given circle]
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= r? =300

= r = /300 = 10y/3
Question 36:

OACB is a quadrant of a circle with center O and radius 7¢m .If OD =4cm , then find area of shaded

region.

4 cm

Answer:

Area of quadrant OACB = %7[(7)2
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OACB — areaof AOAD
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Question 37:

A pendulum swings through on angle of 30> and describes an arc 8.8 cm in length. Find the length of

pendulum.
Answer:

Let be the length of pendulum
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